Research Article



Journal of Nonlinear Science and Applications Print: ISSN 2008-1898 Online: ISSN 2008-1901



Strong convergence results for the split common fixed point problem

Huimin He^{a,*}, Sanyang Liu^a, Rudong Chen^b, Xiaoyin Wang^{b,*}

^aSchool of Mathematics and Statistics, Xidian University, Xi'an 710071, China. ^bDepartment of Mathematics, Tianjin Polytechnic University, Tianjin 300387, China.

Communicated by Y. H. Yao

Abstract

Recently, Boikanyo [O. A. Boikanyo, Appl. Math. Comput., **265** (2015), 844–853] constructed an algorithm for demicontractive operators and obtained the strong convergence theorem for the split common fixed point problem. In this paper, we mainly consider the viscosity iteration algorithm of the algorithm Boikanyo to approximate the split common fixed point problem, and we get the generated sequence strongly converges to a solution of this problem. The main results in this paper extend and improve some results of Boikanyo [O. A. Boikanyo, Appl. Math. Comput., **265** (2015), 844–853] and Cui and Wang [H. H. Cui, F. H. Wang, Fixed Point Theory Appl., **2014** (2014), 8 pages]. The research highlights of this paper are novel algorithms and strong convergence results. ©2016 All rights reserved.

Keywords: Split common fixed point problem, demicontractive mapping, explicit viscosity algorithm, strong convergence. 2010 MSC: 47J25, 47H45.

1. Introduction

In 1994, Censor and Elfving [6] proposed the split feasibility problem (SFP), which is to find a point

 $x \in C$, such that $Ax \in Q$,

where C is a nonempty closed convex subset of a Hilbert space H_1 , Q is a nonempty closed convex subset of a Hilbert space H_2 , and $A: H_1 \to H_2$ is a bounded linear operator.

*Corresponding author

Email addresses: huiminhe@126.com (Huimin He), wxywxq@163.com (Xiaoyin Wang)

Received 2016-08-13

To solve this problem, Censor and Elfving [6] introduced the original algorithm in the finite-dimensional space \mathbb{R}^n in 1994,

$$x_{n+1} = A^{-1} P_Q P_{A(C)} A x_n, (1.1)$$

where C and Q are nonempty closed convex subsets of \mathbb{R}^n , the bounded linear operator A of \mathbb{R}^n is a $n \times n$ matrix and P_Q is the orthogonal projection onto the sets onto Q.

But this algorithm (1.1) involves the computation of the inverse A^{-1} (assuming the existence of the inverse of A) and thus it does not become popular.

In order to overcome the disadvantage of this algorithm, Byrne [2, 3] introduced the following algorithm:

$$x_{n+1} = P_C(x_n - \gamma A^*(I - P_Q)Ax_n), \quad n \ge 0,$$

where $0 < \gamma < 2/\rho$ with ρ being the spectral radius of the operator A^*A and P_C , P_Q denote the orthogonal projection onto the sets C, Q, respectively.

However, the step size of the CQ algorithm is fixed and related to spectral radius of the operator A^*A , and the orthogonal projection onto the sets C and Q is not easily calculated usually.

Based on the applications of the SFP in intensity-modulated radiation therapy, signal processing, and image reconstruction, the SFP has received more and more attention and how to approximate the solutions of the SFP are studied extensively by so many scholars, see [4, 5, 7, 10, 12, 16–18, 20, 21, 24–27].

In 2009, Censor and Segal [8] proposed the split common fixed point problem (SCFP), which is to find a point

$$x \in Fix(U)$$
, such that $Ax \in Fix(T)$, (1.2)

where $U: H_1 \to H_1$ and $T: H_2 \to H_2$, and Fix(U) and Fix(T) denote the fixed point sets of U and T.

It is obvious to see the SCFP is a particular case of SFP and closely related to SFP.

For solving this problem, the original algorithm for directed operator was introduced by Censor and Elfving [8] in the following,

$$x_{n+1} = U(x_n - \rho A^*(I - T)Ax_n), \quad n \ge 0,$$

where the step size ρ satisfies $0 < \rho < \frac{2}{\|A\|^2}$, and they proved that the sequence $\{x_n\}$ weakly converges to a solution of the SCFP (1.2) if the SCFP consists. But the disadvantage of this algorithm is the choice of the step size ρ , which depends on the norm of operator A. Then, some authors do some improvement studies. But the improvement mainly focuses on the extension of the operator, such as

In 2010, Moudafi [15] extended to demicontractive mappings.

In 2011, he [14] also extended to quasi-nonexpansive operators.

In 2011, Wang and Xu [20] extended to finitely many directed operators.

The detailed relation of the directed operator, quasi-nonexpansive operator and demicontractive operator can see Section 3. Also there are some other researchers studied the fixed point theory and its applications [28].

Until 2014, Cui and Wang [9] proposed the following algorithm, and they proved the sequence $\{x_n\}$ converges weakly to a solution of the SCFP (1.2),

$$x_{n+1} = U_{\lambda}(x_n - \rho_n A^* (I - T) A x_n), \quad n \ge 0,$$
(1.3)

where the step size ρ_n is chosen in the following way,

$$\rho_n = \begin{cases} \frac{(1-\tau)\|(I-T)Ax_n\|^2}{2\|A^*(I-T)Ax_n\|^2}, & Ax_n \neq T(Ax_n), \\ 0, & \text{otherwise.} \end{cases} \tag{1.4}$$

The step size of this algorithm ρ_n does not depend on the the norm of operator A and searches automatic.

In 2015, Boikanyo [1] extended the main results of Cui and Wang [9] and constructed the following Halpern's type algorithm for demicontractive operators that converges strongly to a solution of the SCFP (1.2),

$$x_{n+1} = \alpha_n u + (1 - \alpha_n) U_\lambda (x_n - \rho_n A^* (I - T) A x_n), \quad n \ge 0,$$
(1.5)

and the step size ρ_n is chosen as (1.4).

Motivated by Boikanyo [1] and Xu [23], in this paper, we construct the viscosity algorithms of (1.5) for demicontractive operators to approximate the solution of the SCFP (1.2),

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) U_\lambda(x_n - \rho_n A^* (I - T) A x_n), \quad n \ge 0,$$
(1.6)

and the step size ρ_n is also chosen as (1.4).

And we prove the sequence $\{x_n\}$ generated by the (1.6) strongly converges to a solution \hat{x} of the SCFP (1.2), and the \hat{x} solves the following variational inequality:

$$\langle \hat{x} - f(\hat{x}), \hat{x} - z \rangle \le 0, \quad \forall z \in S,$$

where S denotes the set of all solutions of the SCFP (1.2).

2. Preliminaries

Throughout this paper, we use $x_n \to x$ to indicate that $\{x_n\}$ converges weakly to x. Similarly, $x_n \to x$ symbolizes the sequence $\{x_n\}$ converges strongly to x. \mathbb{N} indicates the set of natural numbers.

Some concepts and lemmas will be useful in proving our main results as follows:

Let *H* be a Hilbert space endowed with the inner product $\langle \cdot, \cdot \rangle$ and norm $\|\cdot\|$. Then the following inequality holds

$$||x+y||^{2} \le ||x||^{2} + 2\langle y, x+y \rangle, \quad \forall x, y \in H.$$
(2.1)

Definition 2.1. An operator $T: H \to H$ is said to be:

(i) nonexpansive if

$$||Tx - Ty|| \le ||x - z||, \quad \forall x \in H;$$

(ii) quasi-nonexpansive if

$$||Tx - z|| \le ||x - z||, \quad \forall x \in H, \quad \forall z \in Fix(T);$$

(iii) directed if

$$\langle z - Tx, x - Tx \rangle \le 0, \quad \forall x, y \in H, \quad \forall z \in Fix(T);$$

$$(2.2)$$

(iv) τ -demicontractive with $\tau < 1$ if

$$||Tx - z||^2 \le ||x - z||^2 + \tau ||x - Tx||^2, \quad \forall x, y \in H, \quad \forall z \in Fix(T).$$

It is easy to obtain (2.2) is equivalent to

$$||z - Tx||^{2} + ||x - Tx||^{2} - ||x - z||^{2} \le 0, \quad \forall x, y \in H, \quad \forall z \in Fix(T).$$

Remark 2.2. The classes of *k*-demicontrative operators, directed operators, quasi-nonexpansive operators and nonexpansive operators are closely related. By Definition 2.1, we easily obtain the following conclusion.

- (i) The nonexpansive operator is quasi-nonexpansive operator.
- (ii) The quasi-nonexpansive operator is 0-demicontrative operator.
- (iii) The directed operator is -1-demicontrative operator.

Definition 2.3. Let $T: H \to H$ be an operator, then I - T is said to be demiclosed at zero, if for any $\{x_n\}$ in H, the following implication holds

$$\left. \begin{array}{c} x_n \rightharpoonup x\\ (I-T)x_n \rightarrow 0 \end{array} \right\} \Rightarrow x = Tx.$$

Note that the nonexpansive mappings are demiclosed at zero [11].

Definition 2.4. Let C be a nonempty closed convex subset of a Hilbert space H, the metric (nearest point) projection P_C from H to C is defined as follows.

Given $x \in H$, $P_C x$ is the only point in C with the property

$$||x - P_C x|| = \inf\{||x - y|| : y \in C\}.$$

Lemma 2.5 ([19]). Let C be a nonempty closed convex subset of a Hilbert space H, P_C is a nonexpansive mapping from H onto C and is characterized as follows.

Given $x \in H$, there holds the inequality

$$\langle x - P_C x, x - P_C x \rangle \le 0, \quad \forall y \in C.$$

Lemma 2.6 ([22]). Assume $\{a_n\}$ is a sequence of nonnegative real numbers such that

$$a_{n+1} \le (1 - \gamma_n)a_n + \delta_n, \quad n \ge 0,$$

where $\{\gamma_n\}$ is a sequence in (0,1) and $\{\delta_n\}$ is a sequence in \mathbb{R} such that

(i) $\sum_{n=1}^{\infty} \gamma_n = \infty;$ (ii) $\limsup_{n \to \infty} \frac{\delta_n}{\gamma_n} \le 0 \text{ or } \sum_{n=1}^{\infty} |\delta_n| < \infty.$

Then $\lim_{n \to \infty} a_n = 0.$

Lemma 2.7 ([9]). Let $A : H_1 \to H_2$ be a bounded linear operator and $T : H_2 \to H_2$ a τ -demicontractive operator with $\tau < 1$. If $A^{-1}Fix(T) \neq$, then

(a) $(I-T)Ax - 0 \leftrightarrow A^*(I-T)Ax - 0, \forall x \in H_1.$

(b) In addition, for $z \in A^{-1}Fix(T)$

$$\|x - \rho A^*(I - T)Ax - z\|^2 \le \|x - z\|^2 - \frac{(1 - \tau)^2}{4} \frac{\|(I - T)Ax\|^4}{\|A^*(I - T)Ax\|^2},$$
(2.3)

where $x \in H_1$, $Ax \neq T(Ax)$ and

$$\rho := \frac{1 - \tau}{2} \frac{\|(I - T)Ax\|^2}{\|A^*(I - T)Ax\|^2}$$

Lemma 2.8 (Maingé [13]). Let $U : H_1 \to H_1$ be a k-demicontractive operator with k < 1. Denote $U_{\lambda} := (1 - \lambda)I + \lambda U$ for $\lambda \in (0, 1 - k)$. Then for any $x \in H_1$ and $z \in Fix(U)$,

$$||U_{\lambda}x - z||^{2} \le ||x - z||^{2} - \lambda(1 - k - \lambda)||x - Ux||^{2}.$$
(2.4)

3. Main results

Algorithm 3.1. Choose an initial guess $x_0 \in H_1$, arbitrarily. Let f be a fixed contraction on Fix(U) with coefficient $\alpha, \lambda \in (0, 1 - \tau)$. Assume that the *n*-th iterate x_n has been constructed. Then the (n + 1)-th iterate via the following formula

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) U_\lambda(x_n - \rho_n A^* (I - T) A x_n), \quad n \ge 0,$$
(3.1)

where A^* is the adjoint of bounded linear operator A and the step size ρ_n is chosen in the following way.

$$\rho_n = \begin{cases}
\frac{(1-\tau)\|(I-T)Ax_n\|^2}{2\|A^*(I-T)Ax_n\|^2}, & Ax_n \neq T(Ax_n), \\
0, & \text{otherwise.}
\end{cases}$$
(3.2)

Theorem 3.2. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$, then the sequence $\{x_n\}$ generated by explicit algorithm (3.1) converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality:

$$\langle \hat{x} - f(\hat{x}), \hat{x} - z \rangle \le 0, \quad \forall z \in S.$$
 (3.3)

Proof. The proof is divided into three steps.

Step 1. We show that the sequence $\{x_n\}$ is bounded.

Denote $y_n := x_n - \rho_n A^* (I - T) A x_n$, take $z \in S$, it follows from (3.1) that

$$\|x_{n+1} - z\| = \|\alpha_n(f(x_n) - z) + (1 - \alpha_n)(U_\lambda y_n - z)\|$$

$$\leq \alpha_n \|f(x_n) - f(z)\| + (1 - \alpha_n)\|U_\lambda y_n - z\| + \alpha_n \|f(z) - z\|$$

$$\leq \alpha \alpha_n \|x_n - z\| + (1 - \alpha_n)\|U_\lambda y_n - z\| + \alpha_n \|f(z) - z\|.$$
(3.4)

• If $\rho_n \neq 0$, from (2.3) and (2.4), we can get

$$\begin{aligned} \|U_{\lambda}y_n - z\|^2 &\leq \|y_n - z\|^2 - \lambda(1 - \lambda - k)\|y_n - Uy_n\|^2 \\ &= \|x_n - \rho_n A^*(I - T)Ax_n - z\|^2 - \lambda(1 - \lambda - k)\|y_n - Uy_n\|^2 \\ &\leq \|x_n - z\|^2 - \frac{(1 - \tau)^2}{4} \frac{\|(I - T)Ax_n\|^4}{\|A^*(I - T)Ax_n\|^2} \\ &- \lambda(1 - \lambda - k)\|y_n - Uy_n\|^2. \end{aligned}$$

Thus, we get

$$||U_{\lambda}y_n - z|| \le ||x_n - z||. \tag{3.5}$$

By applying (3.5) to (3.4), we obtain

$$\begin{aligned} \|x_{n+1} - z\| &\leq \alpha \alpha_n \|x_n - z\| + (1 - \alpha_n) \|x_n - z\| + \alpha_n \|f(z) - z\| \\ &\leq [1 - (1 - \alpha)\alpha_n] \|x_n - z\| + \alpha_n \|f(z) - z\| \\ &\leq \max\{\|x_n - z\|, \ \frac{1}{1 - \alpha} \|f(z) - z\|\}. \end{aligned}$$
(3.6)

By induction, we get

$$||x_n - z|| \le \max\{||x_0 - z||, \ \frac{1}{1 - \alpha} ||f(z) - z||\}.$$
(3.7)

Thus, the sequence $\{x_n\}$ is bounded, so is $\{f(x_n)\}$.

• If $\rho_n = 0$, then $y_n = x_n$. From (2.4), we can get

$$||U_{\lambda}x_n - z|| \le ||x_n - z||.$$
(3.8)

By applying the inequality (3.8) to (3.4), the process is similar to (3.6), we can get (3.7), i.e., the sequence $\{x_n\}$ is bounded, so is $\{f(x_n)\}$.

Step 2. We show that the following inequality holds.

For a solution \hat{x} of the variational inequality (3.3),

$$\|x_{n+1} - \hat{x}\| \le (1 - \alpha_n) \|x_n - \hat{x}\|^2 + 2\alpha_n \langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle.$$
(3.9)

• If $\rho_n = 0$, from (2.1) and (2.4), we have

$$\|x_{n+1} - \hat{x}\|^{2} \leq (1 - \alpha_{n}) \|U_{\lambda}x_{n} - \hat{x}\|^{2} + 2\alpha_{n} \langle f(x_{n}) - \hat{x}, x_{n+1} - \hat{x} \rangle$$

$$\leq (1 - \alpha_{n}) [\|x_{n} - \hat{x}\|^{2} - \lambda(1 - k - \lambda) \|x_{n} - Ux_{n}\|^{2}]$$

$$+ 2\alpha_{n} \langle f(x_{n}) - \hat{x}, x_{n+1} - \hat{x} \rangle.$$
(3.10)

So,

$$\|x_{n+1} - \hat{x}\|^2 \le (1 - \alpha_n) \|x_n - \hat{x}\|^2 + 2\alpha_n \langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle.$$

Thus, the inequality (3.9) is obtained.

• If $\rho_n \neq 0$, from (2.1) and (2.3), we have

$$\begin{aligned} \|x_{n+1} - \hat{x}\|^2 &\leq (1 - \alpha_n) \|U_{\lambda} y_n - \hat{x}\|^2 + 2\alpha_n \langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle \\ &\leq (1 - \alpha_n) [\|x_n - \hat{x}\|^2 - \frac{(1 - \tau)^2}{4} \frac{\|(I - T)Ax_n\|^4}{\|A^*(I - T)Ax_n\|^2}] \\ &\quad -\lambda(1 - \alpha_n)(1 - k - \lambda) \|y_n - Uy_n\|^2 \\ &\quad + 2\alpha_n \langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle. \end{aligned}$$
(3.11)

So,

$$||x_{n+1} - \hat{x}||^2 \le (1 - \alpha_n) ||x_n - \hat{x}||^2 + 2\alpha_n \langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle.$$

Thus, the inequality (3.9) is obtained.

Step 3. We show that $x_n \to \hat{x}$.

This step of proof is divided into two cases. Denote $s_n := ||x_n - \hat{x}||^2$.

Case 1. Assume that there is a positive integer n_0 such that the sequence $\{s_n\}$ is decreasing for all $n \ge n_0$, then the sequence $\{s_n\}$ is convergent by the monotonic bounded principle. First, we show that

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_n - \hat{x} \rangle \le 0.$$
(3.12)

• If $\rho_n = 0$, from (3.10) and the boundedness of $\{x_n\}$ and $\{f(x_n)\}$, we get

$$\lambda(1-k-\lambda)\|x_n - Ux_n\|^2 \le s_n - s_{n+1} + \alpha_n K$$

where K is a nonnegative real constant such that $K \ge \sup_{n \in N} \{2\langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle \}.$

Since the sequence $\{s_n\}$ is convergent, then

$$||x_n - Ux_n|| \to 0, \quad \text{as} \quad n \to \infty.$$
(3.13)

From (3.2), the following holds clearly

$$\|(I-T)Ax_n\| \to 0, \quad \text{as} \quad n \to \infty.$$
(3.14)

Based on the boundedness of $\{x_n\}$, there exists a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ and $x_{n_k} \rightharpoonup q$ such that

$$\lim_{n \to \infty} \sup \langle f(\hat{x}) - \hat{x}, x_n - \hat{x} \rangle = \lim_{k \to \infty} \langle f(\hat{x}) - \hat{x}, x_{n_k} - \hat{x} \rangle$$
$$= \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle.$$

From (3.13) and the demiclosedness of I - U at zero, we have

$$q \in Fix(U). \tag{3.15}$$

Since A is bounded linear operator, then A is of weak continuity. Thus

$$x_{n_k} \rightharpoonup q \Rightarrow A x_{n_k} \rightharpoonup A q$$
, as $k \to \infty$.

From (3.14) and the demiclosedness of I - T at zero, then

$$Aq \in Fix(T). \tag{3.16}$$

So, $q \in S$ by (3.15) and (3.16). Hence, it follows from (3.3) that

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_n - \hat{x} \rangle = \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle \le 0.$$

• If $\rho_n \neq 0$, from (3.11) and the boundedness of $\{x_n\}$ and $\{f(x_n)\}$, we get

$$\lambda(1-k-\lambda)\|y_n - Uy_n\|^2 + \frac{(1-\tau)^2}{4} \frac{\|(I-T)Ax_n\|^4}{\|A^*(I-T)Ax_n\|^2} \le s_n - s_{n+1} + \alpha_n L,$$

where L is a nonnegative real constant such that $L \ge \sup_{n \in N} \{2\langle f(x_n) - \hat{x}, x_{n+1} - \hat{x} \rangle\}.$

So, we have

$$0 \le \lambda (1 - k - \lambda) \|y_n - Uy_n\|^2 \le s_n - s_{n+1} + \alpha_n L,$$

and

$$0 \le \frac{(1-\tau)^2}{4} \frac{\|(I-T)Ax_n\|^4}{\|A^*(I-T)Ax_n\|^2} \le s_n - s_{n+1} + \alpha_n L.$$

It follows from $\{s_n\}$ is convergent that,

$$\|y_n - Uy_n\| \to 0, \quad \text{as} \quad n \to \infty, \tag{3.17}$$

$$\frac{\|(I-T)Ax_n\|^2}{\|A^*(I-T)Ax_n\|} \to 0, \text{ as } n \to \infty.$$
(3.18)

Moreover,

$$\begin{aligned} \|(I-T)Ax_n\| &= \|A\| \cdot \frac{\|(I-T)Ax_n\|}{\|A\|} \\ &= \|A\| \cdot \|(I-T)Ax_n\| \frac{\|(I-T)Ax_n\|}{\|A\|\|(I-T)Ax_n\|} \\ &\leq \|A\| \cdot \|(I-T)Ax_n\| \frac{\|(I-T)Ax_n\|}{\|A^*(I-T)Ax_n\|} \\ &= \|A\| \frac{\|(I-T)Ax_n\|^2}{\|A^*(I-T)Ax_n\|}. \end{aligned}$$

Hence,

$$\|(I-T)Ax_n\| \to 0, \quad \text{as} \quad n \to \infty.$$
(3.19)

So,

$$||x_n - y_n|| = \rho_n ||A^*(I - T)Ax_n||$$

= $\frac{1 - \tau}{2} \frac{||(I - T)Ax_n||^2}{||A^*(I - T)Ax_n||} \to 0$, as $n \to \infty$. (3.20)

For $x_n \to q$, then $y_n \to q$ from (3.20). From (3.17) and the demiclosedness of I - U at zero, we have

$$q \in Fix(U). \tag{3.21}$$

From (3.19) and the demiclosedness of I - T at zero, we have

$$Aq \in Fix(T). \tag{3.22}$$

So, $q \in S$ by (3.21) and (3.22).

Hence, it follows from the variational inequality (3.3) that

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_n - \hat{x} \rangle = \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle \le 0.$$

Second, we show that

$$\|x_{n+1} - x_n\| \to 0 \quad \text{as} \quad n \to \infty.$$

$$(3.23)$$

For $x \in H_1$, we get $U_{\lambda}x - x = \lambda(Ux - x)$ by $U_{\lambda} := (1 - \lambda)I + \lambda U$. • If $\rho_n = 0$, then

$$||x_{n+1} - x_n|| \le \alpha_n ||f(x_n) - x_n|| + (1 - \alpha_n) ||x_n - U_\lambda x_n||$$

$$\le \alpha_n ||f(x_n) - x_n|| + \lambda ||x_n - Ux_n||.$$

By (3.13) and the assumption $\lim_{n\to\infty} \alpha_n = 0$, (3.23) is obtained.

• If $\rho_n \neq 0$, then

$$\begin{aligned} \|x_{n+1} - x_n\| &\leq \alpha_n \|f(x_n) - x_n\| + (1 - \alpha_n) \|x_n - U_\lambda y_n\| \\ &\leq \alpha_n \|f(x_n) - x_n\| + \|x_n - y_n\| + \|y_n - U_\lambda y_n\| \\ &= \alpha_n \|f(x_n) - x_n\| + \|x_n - y_n\| + \lambda \|y_n - Uy_n\|. \end{aligned}$$

Combining (3.17) and (3.20), implies that (3.23) holds.

Third, we show that $x_n \to \hat{x}$. By combining (3.12) and (3.23), we get

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_{n+1} - \hat{x} \rangle \le 0.$$
(3.24)

By applying Lemma 2.6 to the (3.9), and with the assumption of $\{\alpha_n\}$ and (3.24), $x_n \to \hat{x}$ can be easily concluded.

Case 2. Assume that there is not a positive integer n_0 such that the sequence $\{s_n\}$ is decreasing for all $n \ge n_0$, that is to say, there is a subsequence $\{s_{k_i}\}$ of $\{s_k\}$ such that $s_{k_i} < s_{k_i+1}$ for all $i \in N$.

By applying Lemma 2.8, we can define a nondecreasing sequence $\{m_k\} \subset N$ such that $m_k \to \infty$ as $k \to \infty$ and

$$s_{m_k} \le s_{m_k+1}.\tag{3.25}$$

First, we show that

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_n - \hat{x} \rangle \le 0.$$
(3.26)

• If $\rho_{m_k} = 0$, from (3.10), (3.25) and the boundedness of $\{x_n\}$ and $\{f(x_n)\}$, we get

$$\lambda(1-k-\lambda)\|x_{m_k} - Ux_{m_k}\|^2 \le s_{m_k} - s_{m_k+1} + \alpha_{m_k}K$$
$$\le \alpha_{m_k}K,$$

where K is a nonnegative real constant such that $K \ge \sup_{m_k \in N} \{2\langle f(x_{m_k}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle\}$. So

$$\|x_{m_k} - Ux_{m_k}\| \to 0, \quad \text{as} \quad k \to \infty.$$
(3.27)

From (3.2), then the following holds clearly.

$$||(I-T)Ax_{m_k}|| \to 0$$
, as $k \to \infty$.

Based on the boundedness of $\{x_{m_k}\}$, there exists a subsequence $\{x_{m_k(l)}\}$ of $\{x_{m_k}\}$ and $x_{m_k(l)} \rightharpoonup q$ such that

$$\begin{split} \limsup_{k \to \infty} \langle f(\hat{x}) - \hat{x}, x_{m_k} - \hat{x} \rangle &= \lim_{l \to \infty} \langle f(\hat{x}) - \hat{x}, x_{m_k(l)} - \hat{x} \rangle \\ &= \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle. \end{split}$$

So, we have $q \in S$ by using the similar proofs in Case 1. Hence, it follows from (3.3) that

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_{m_k} - \hat{x} \rangle = \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle \le 0.$$

• If $\rho_{m_k} \neq 0$, from (3.11) and the boundedness of $\{x_{m_k}\}$ and $\{f(x_{m_k})\}$, we get

$$\lambda(1-k-\lambda)\|y_{m_k} - Uy_{m_k}\|^2 + \frac{(1-\tau)^2}{4} \frac{\|(I-T)Ax_{m_k}\|^4}{\|A^*(I-T)Ax_n\|^2} \le s_{m_k} - s_{m_k+1} + \alpha_{m_k}L,$$

where L is a nonnegative real constant such that $L \ge \sup_{k \in N} \{2\langle f(x_{m_k}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle \}$.

It follows from (3.25) that

$$0 \le \lambda (1 - k - \lambda) \|y_{m_k} - Uy_{m_k}\|^2 \le s_{m_k} - s_{m_k+1} + \alpha_{m_k} L \le \alpha_{m_k} L,$$

and

$$0 \le \frac{(1-\tau)^2}{4} \frac{\|(I-T)Ax_{m_k}\|^4}{\|A^*(I-T)Ax_{m_k}\|^2} \le s_{m_k} - s_{m_k+1} + \alpha_{m_k}L$$
$$\le \alpha_{m_k}L.$$

Thus,

$$\|y_{m_k} - Uy_{m_k}\| \to 0, \quad \text{as} \quad k \to \infty, \tag{3.28}$$

$$\frac{\|(I-T)Ax_{m_k}\|^2}{\|A^*(I-T)Ax_{m_k}\|} \to 0, \text{ as } k \to \infty.$$

Moreover,

$$\begin{aligned} \|(I-T)Ax_{m_k}\| &= \|A\| \cdot \frac{\|(I-T)Ax_{m_k}\|}{\|A\|} \\ &= \|A\| \cdot \|(I-T)Ax_{m_k}\| \frac{\|(I-T)Ax_{m_k}\|}{\|A\|\|(I-T)Ax_{m_k}\|} \\ &\leq \|A\| \cdot \|(I-T)Ax_{m_k}\| \frac{\|(I-T)Ax_{m_k}\|}{\|A^*(I-T)Ax_{m_k}\|} \\ &= \|A\| \frac{\|(I-T)Ax_{m_k}\|^2}{\|A^*(I-T)Ax_{m_k}\|}. \end{aligned}$$

Hence,

$$||(I-T)Ax_{m_k}|| \to 0$$
, as $k \to \infty$.

So that

$$||x_{m_k} - y_{m_k}|| = \rho_{m_k} ||A^*(I - T)Ax_{m_k}||$$

= $\frac{1 - \tau}{2} \frac{||(I - T)Ax_{m_k}||^2}{||A^*(I - T)Ax_{m_k}||} \to 0$, as $k \to \infty$. (3.29)

For $x_{m_k} \to q$, then $y_{m_k} \to q$ from (3.29).

So, we have $q \in S$ by using the similar proofs in Case 1. Hence, it follows from (3.3) that

$$\limsup_{k \to \infty} \langle f(\hat{x}) - \hat{x}, x_{m_k} - \hat{x} \rangle = \langle f(\hat{x}) - \hat{x}, q - \hat{x} \rangle \le 0$$

Second, we show that

$$||x_{m_k+1} - x_{m_k}|| \to 0 \text{ as } k \to \infty.$$
 (3.30)

For $x \in H_1$, we get $U_{\lambda}x - x = \lambda(Ux - x)$ by $U_{\lambda} := (1 - \lambda)I + \lambda U$.

• If $\rho_{m_k} = 0$, then

$$||x_{m_k+1} - x_{m_k}|| \le \alpha_{m_k} ||f(x_{m_k}) - x_{m_k}|| + (1 - \alpha_{m_k}) ||x_{m_k} - U_\lambda x_{m_k}|| \le \alpha_{m_k} ||f(x_{m_k}) - x_{m_k}|| + \lambda ||x_{m_k} - Ux_{m_k}||.$$

By the assumption $\lim_{n\to\infty} \alpha_n = 0$, the boundedness of $\{x_n\}$ and $\{f(x_n)\}$, and (3.27), the (3.30) is obtained. • If $\rho_{m_k} \neq 0$, then

$$\begin{aligned} \|x_{m_k+1} - x_{m_k}\| &\leq \alpha_{m_k} \|f(x_{m_k}) - x_{m_k}\| + (1 - \alpha_{m_k}) \|x_{m_k} - U_\lambda y_{m_k}\| \\ &\leq \alpha_{m_k} \|f(x_{m_k}) - x_{m_k}\| + \|x_{m_k} - y_{m_k}\| + \|y_{m_k} - U_\lambda y_{m_k}\| \\ &= \alpha_{m_k} \|f(x_{m_k}) - x_{m_k}\| + \|x_{m_k} - y_{m_k}\| + \lambda \|y_{m_k} - Uy_{m_k}\|. \end{aligned}$$

Combining (3.28) and (3.29), implies that (3.30) holds.

Third, we show that $x_n \to \hat{x}$ as $n \to \infty$. From (3.26) and (3.30), we get

$$\limsup_{n \to \infty} \langle f(\hat{x}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle \le 0.$$
(3.31)

Based on the inequality $s_{m_k} \leq s_{m_k+1}$ for all $k \in N$ and (3.9), we get

$$\alpha_{m_k} s_{m_k+1} + (1 - \alpha_{m_k}) (s_{m_k+1} - s_{m_k}) \le 2\alpha_{m_k} \langle f(\hat{x}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle$$

So,

$$\alpha_{m_k} s_{m_k+1} \le 2\alpha_{m_k} \langle f(\hat{x}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle_{\mathcal{F}}$$

that is,

$$s_{m_k+1} \le 2\langle f(\hat{x}) - \hat{x}, x_{m_k+1} - \hat{x} \rangle.$$

Take the limit $k \to \infty$, by using (3.31), we obtain

$$s_{m_k+1} \to 0$$
 as $k \to \infty$.

Thus,

 $s_k \to 0$ as $k \to \infty$,

because $s_k \leq s_{m_k+1}$. The proof is completed.

Remark 3.3. The main result of Theorem 3.2 is an extension of Theorem 4.1 of [1]. If we take $f(x_n) = u$ in (3.1), where $u \in H_1$ is arbitrary but fixed, this special case will be Theorem 4.1 of [1].

4. Some special cases

In this section, we consider some special cases of Theorem 3.2, base on the relations of k-demicontrative operators, directed operators, quasi-nonexpansive operators. The details can be seen in Remark 3.3. Then, the following corollaries are obtained easily.

• Case 1: Let $U : H_1 \to H_1$ and $T : H_2 \to H_2$ be quasi-nonexpansive operators, I - U and I - T be demiclosed at zero.

Corollary 4.1. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$. Let $\{x_n\}$ be given by the explicit algorithm (3.1), and in the algorithm (3.1), $\lambda \in (0,1)$ and

$$\rho_n = \begin{cases} \frac{\|(I-T)Ax_n\|^2}{2\|A^*(I-T)Ax_n\|^2}, & Ax_n \neq T(Ax_n), \\ 0, & otherwise. \end{cases}$$

Then the sequence $\{x_n\}$ converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality (3.3).

• Case 2: Let $U: H_1 \to H_1$ and $T: H_2 \to H_2$ be directed operators, I - U and I - T be demiclosed at zero.

Corollary 4.2. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$. Let $\{x_n\}$ be given by the explicit algorithm (3.1), and in the algorithm (3.1), $\lambda \in (0,2)$ and

$$\rho_n = \begin{cases} \frac{\|(I-T)Ax_n\|^2}{\|A^*(I-T)Ax_n\|^2}, & Ax_n \neq T(Ax_n)\\ 0, & otherwise. \end{cases}$$

Then the sequence $\{x_n\}$ converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality (3.3).

• Case 3: Let $U: H_1 \to H_1$ be a directed operator, $T: H_2 \to H_2$ a quasi-nonexpansive operator, I - U and I - T be demiclosed at zero.

Corollary 4.3. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$. Let $\{x_n\}$ be given by the explicit algorithm (3.1), and in the algorithm (3.1), $\lambda \in (0,1)$ and

$$\rho_n = \begin{cases} \frac{\|(I-T)Ax_n\|^2}{2\|A^*(I-T)Ax_n\|^2}, & Ax_n \neq T(Ax_n), \\ 0, & otherwise. \end{cases}$$

Then the sequence $\{x_n\}$ converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality (3.3).

• Case 4: Let $U: H_1 \to H_1$ be a directed operator, $T: H_2 \to H_2$ a τ -demicontractive operator, I - U and I - T be demiclosed at zero.

Corollary 4.4. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$, then the sequence $\{x_n\}$ generated by explicit algorithm (3.1) converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality (3.3).

• Case 5: Let $U: H_1 \to H_1$ be a quasi-nonexpansive operator, $T: H_2 \to H_2$ a τ -demicontractive operator, I - U and I - T be demiclosed at zero.

Corollary 4.5. Assume the SCFP (1.2) is consistent $(S \neq \emptyset)$. If $\alpha_n \in (0,1)$ satisfies $\lim_{n \to \infty} \alpha_n = 0$ and $\sum_{n=0}^{\infty} \alpha_n = \infty$, then the sequence $\{x_n\}$ generated by explicit algorithm (3.1) converges strongly to a point $\hat{x} \in S$, and the $\hat{x} = P_S f(\hat{x})$, i.e., \hat{x} satisfies the following variational inequality (3.3).

5. Conclusions

In this paper, we proposed a novel explicit viscosity iteration algorithm (3.1) and we proved the sequence $\{x_n\}$ converges strongly to a solution of the split common fixed point problems (1.2). This main result is an extension of Theorem 4.1 of [1]. The research highlights of this paper are novel explicit algorithms and strong convergence results. The research of this aspect for SCFP can further continue.

Acknowledgment

This work was supported by Fundamental Research Funds for the Central Universities (No. JB150703), National Science Foundation for Young Scientists of China (No. 11501431), and National Science Foundation for Tian yuan of China (No. 11426167). Natural Science Basic Research Plan in Shaanxi province (No. 2016JQ1022), and Special Science Research Plan of the Education Bureau of Shaanxi province (No. 16JK1341).

References

- O. A. Boikanyo, A strongly convergent algorithm for the split common fixed point problem, Appl. Math. Comput., 265 (2015), 844–853. 1, 1, 3.3, 5
- [2] C. Byrne, Iterative oblique projection onto convex sets and the split feasibility problem, Inverse Problems, 18 (2002), 441–453.
- [3] C. Byrne, A unified treatment of some iterative algorithms in signal processing and image reconstruction, Inverse Problems, 20 (2004), 103–120.
- [4] L.-C. Ceng, Q. H. Ansari, J.-C. Yao, Relaxed extragradient methods for finding minimum-norm solutions of the split feasibility problem, Nonlinear Anal., 75 (2012), 2116–2125. 1
- Y. Censor, T. Bortfeld, B. Martin, A. Trofimov, A unified approach for inversion problems in intensity-modulated radiation therapy, Phys. Med. Biol., 51 (2006), 2353–2365.
- [6] Y. Censor, Y. Elfving, A multiprojection algorithm using Bregman projections in a product space, Numer. Algorithms, 8 (1994), 221–239.
- [7] Y. Censor, Y. Elfving, N. Kopf, T. Bortfeld, The multiple-sets split feasibility problem and its applications for inverse problems, Inverse Problems, 21 (2005), 2071–2084. 1
- [8] Y. Censor, A. Segal, The split common fixed point problem for directed operators, J. Convex Anal., 16 (2009), 587–600. 1, 1
- H. H. Cui, F. H. Wang, Iterative methods for the split common fixed point problem in Hilbert spaces, Fixed Point Theory Appl., 2014 (2014), 8 pages. 1, 1, 2.7
- [10] Q. W. Fan, W. Wu, J. M. Zurada, Convergence of batch gradient learning with smoothing regularization and adaptive momentum for neural networks, SpringerPlus, 5 (2016), 1–17. 1
- [11] K. Goebel, W. A. Kirk, Topics in metric fixed point theory, Cambridge Studies in Advanced Mathematics, Cambridge University Press, Cambridge, (1990). 2
- [12] R. Kraikaew, S. Saejung, On split common fixed point problems, J. Math. Anal. Appl., 415 (2014), 513–524. 1
- [13] P. E. Maingé, Strong convergence of projected subgradient methods for nonsmooth and nonstrictly convex minimization, Set-Valued Anal., 16 (2008), 899–912. 2.8
- [14] A. Moudafi, The split common fixed-point problem for demicontractive mappings, Inverse Problems, 26 (2010), 6 pages. 1
- [15] A. Moudafi, A note on the split common fixed-point problem for quasi-nonexpansive operators, Nonlinear Anal., 74 (2011), 4083–4087.
- [16] A. Moudafi, A relaxed alternating CQ-algorithm for convex feasibility problems, Nonlinear Anal., 79 (2013), 117–121. 1
- [17] B. Qu, B. H. Liu, N. Zheng, On the computation of the step-size for the CQ-like algorithms for the split feasibility problem, Appl. Math. Comput., 262 (2015), 218–223.
- [18] B. Qu, N. Xiu, A note on the CQ algorithm for the split feasibility problem, Inverse Problems, 21 (2005), 1655–1665. 1
- [19] W. Takahashi, Nonlinear functional analysis, Fixed point theory and its applications, Yokohama Publishers, Yokohama, (2000). 2.5
- [20] F. H. Wang, H.-K. Xu, Cyclic algorithms for split feasibility problems in Hilbert spaces, Nonlinear Anal., 74 (2011), 4105–4111. 1, 1
- [21] Z. W. Wang, Q. Z. Yang, Y. Yang, The relaxed inexact projection methods for the split feasibility problem, Appl. Math. Comput., 217 (2011), 5347–5359. 1
- [22] H.-K. Xu, An iterative approach to quadratic optimization, J. Optim. Theory Appl., 116 (2003), 659–678. 2.6
- [23] H.-K. Xu, Viscosity approximation methods for nonexpansive mappings, J. Math. Anal. Appl., 298 (2004), 279– 291. 1
- [24] H.-K. Xu, A variable Krasonselskii-Mann algorithm and the multiple-set split feasibility problem, Inverse Problems, 22 (2006), 2021–2034.
- [25] Q. Z. Yang, The relaxed CQ algorithm solving the split feasibility problem, Inverse Problems, 20 (2004), 1261– 1266.
- [26] J. L. Zhao, Q. Z. Yang, Several solution methods for the split feasibility problem, Inverse Problems, 21 (2005), 1791–1799.
- [27] J. L. Zhao, Y. J. Zhang, Q. Z. Yang, Modified projection methods for the split feasibility problem and the multiplesets split feasibility problem, Appl. Math. Comput., 219 (2012), 1644–1653. 1
- [28] Z. C. Zhu, R. Chen, Strong convergence on iterative methods of Cesáro means for nonexpansive mapping in Banach space, Abstr. Appl. Anal., 2014 (2014), 6 pages. 1